| . Ashop sells umbrellas.

The scatter graph shows information about the number of umbrellas sold each
week and the rainfall that week, in millimetres.
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(a) Describe the relationship between the rainfall and umbrellas sold.

...............
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In another week, there was 6mm of rain.

(c) Estimate the number of umbrellas sold.

fay vay e 1o Gnes o hHE
e G # @)

(d) Explain why it may not be appropriate to use your line of best fit to estimate
the number of umbrellas sold in a week with 25mm of rainfall.

e begoad 0¢ rone N0 dOEG .
e s exXaoacne. Merfore... uncealie o
(1)
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(a) Write 5930000000 in standard form.

5A%KI0N
(1)
(b) Write 8.024 x 104 as an ordinary number.
Q.. OOOSOLY ..
(1)
(c) c=2x10% andy=6x105
2= L
= P y
Work out the value of w.
Give your answer in standard form correct to 2 significant figures.
sl N
wr= 12210 - ¢57142-857} / .
jyoooo L QAR
" (3)
NE Ls-BL ..
wi - Q20
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Use your calculator to find

.}39.32 _1.24°

(a) Give all the figures in your calculator display.
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'._f— : Using ruler and compasses, construct the bisector of angle ABC.
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The diagram shows two lighthouses.

A boat is within than 8 miles of lighthouse A.

The same boat is within 6 miles of lighthouse B.
Shade the possible area in which the boat could be.

1cm = 1 mile

Land

o>

B
. >

Sea

()
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i Cyciindes \= Tth

12cm
assssssesesssssnnsssanse ] - ‘T_‘Lb)‘)_(‘uy
- t4cm - \5% 3326
Cube yryry~ ELat
A cylinder has diameter 12cm and height 14cm. . )
A cube has side length y cm. 2 I£E5%3bse« ™
The cylinder and cube has the same volume.
Find y.
66 om
(4
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/. Shown below is a triangular prism.

8.5cm

=
6.8cm

Find the volume of the triangular prism.

N -\i £ (68) w(ss)x(ns)

=§\ 23S
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y

. The table gives information about the number of students in years 7 to 10.

Year Frequency
7 200 xo'g
8 140, o.c
9 220 roS
10 160 105
T20

reye

Draw an accurate pie chart to show this information.
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Find the Lowest Common Multiple (LCM) of 60 and 72.

b © /?2\
q
e ;
/N <3
@ 1S @ 12:7_)(1;(2_,(?);(3
/E@ 2 2—>
©)

66=2x 242x5 ® e

.....................................

Lem= 5K 2K 2 x 3 %x2x3 =360
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Make v the subject of the formula.

1
g == -2—(u + v)t
A £ 2
2.5 =(u+vt
e +E
2;__ = U+4v
£
i U
4,,2_1 - =V
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/ | . On the grid, draw x + 2y = 6 for values of x from -2 to 2.

X,O\ 2 -l -7
3,32-5 L &5 g

/

oy
\J

—

@
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Solve the simultaneous equations

5x + 2y =-34 ©

4x -3y =-41 (L
| Checu x>~ 38 ad y3
Do not use trial and improvement iy QQUC\\/\U\. o
5 x + by= —10%
. 5 x ~by= —8Z -22-9 = -4l
234 = —\BH
£ = =8
Sab x=-% ivio egn O
~hp +29 = T
29~ S TR S Y & et . N
\) = 3 4

© CORBETTMATHS 2019




James has received two job offers.

A job in Milan which pays €55,000 a year.
A job in Boston which pays $64,000 a year.

The exchange rates were £1 =$1.42 and £1=€1.25.

Which job offer has the highest salary?
Show working to explain your answer.

Milan 55000 =~ 1-25 = $4L4 000

2 omion bl coo < 1-42= Lug7F0- Y2
P

Boston - hghe} Sc\xoﬂj

3)
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Terry goes to the Post Office to exchange money.

Exchange Rates

$£€ i

*Commission Charged

Terry changes $651 and €161.20 into pounds sterling.
The Post Office deducts their commission and gives Terry £528.

What is the percentage commission?

Pest > Lo
€ 16\ Lo > B30

3550
. S
’%’Zs_g x 10O =4 @)
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Martyn has some money to invest and sees this advert.

Bank of Maths

Double your money in 15 years.

The average annual growth for your
investment is 4.5%

Will Martyn double his money in 15 years by investing his money with “Bank of
Maths?”

You must show your workings.

I W\C\t(tjn had fé 10O

0o x V- ous® = 219353
4)

HQ il nor d.Oub‘te s MQW e

IS years
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In the diagram, AB is parallel to CD.

Not drawn
accurately

Work out the size of angle x.

You must show your workings.

|So -\ b =64
51 +6Y4-=1S

\S/Q“HS :bS
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The diagram shows the position of two airplanes, P and Q.

Not drawn accurately

The bearing of Q from P is 070°.

Calculate the bearing of P from Q.

3o ~110 2L30
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The sum of the interior angles in a polygon is 7380°.

Calculate the number of sides the polygon has.

(N~ <\ B0 = 13%0
(n-D =4

()
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James has a bicycle.
Each wheel has diameter 45cm.

James cycles his bicycle in a straight line in the playground.
The front wheel makes 15 complete revolutions.

How far does the bicycle travel?
Give your answer in metres.

TTAuS = L2t Es--cmm

L. BH. x (S 2 212051 . cm
~ 1009
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In a sale the price of a sofa is reduced by 70%.

The sale price is £255

Work out the price before the sale.

5()0/0 = 2SS
el -%°S
oo |- = 85V

© CORBETTMATHS 2019




Below are two triangles, ABC and BCD.

D
1icm
X
C
6cm
A 7cm B
Find x
h% 4 7% =ac*
BCT = 85
B C = . 2G9S -
G.y@y.- % + 0% = D"
g0 = Y206 PSS
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(a) Complete the table of values fory = x2 + 2x + 1

N

6

)

(b) On the grid, draw the graph of y = x2 + 2x + 1 for the values of x from -3 to 3.

-
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A logo is designed that has four pink circles within a white square.

it

K

16cm

The square has side length 16cm.

Find the area of the logo that is white.

Trx Y = 50-265 -
Sbr&bwj o XY = LEs O(Dl 9

lbx b = 256
I5H — Zok G
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Calculate the perimeter of the sector.

S Mok s= 1989%. .
250

\9q-¥96-.. +uU 14 =23 8% -

21857
(3)
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Shown is a sector of a circle with radius 9.2cm.

)
9.2cm
& oot . )
The area of the sector is 38.4cm? 20 A T xG27 2384
Find the size of angle 8 - L G.2% = L-22-..
Give your answer to 2 significant figures. 360
& xsuwby=iL- L
360
O -tk
260
........... 2L
3 . @)
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The diagram shows two right-angled triangles.

50°
5cm

Calculate the value of x.

Ye ban(SOY xS = 5-GSS#

A= kan(28) S G58*
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The diagram shows a solid triangular prism.

8cm

The prism is made from wood and has a mass of 643.8g
The density of wood is 1.85g/cm?

Calculate the length of the prism.
e B eud 5 2xcm”

A4 X =AY
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/. Timothy weighs the mass of some oranges, in grams.

The table shows some information about his results.

[ Mass | Frequency |Midpoak & X
20<m¢25 | 12 99 5 LTO
25<m<30 | 24 Fiakd 600
30<m¢35 | 17 YRECY el S
Beme40 | 15 [3F5 561 S
40<m<45 | 4 4 e N

= Csamem——
e 2215

Work out an estimate for the mean mass of an orange.

295 -FL
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In a small village, one bus arrives a day.
The probability of rain in the village is 0.3.

If it rains, the probability of a bus being late is 0.4.
If it does not rain, the probability of a bus being late is 0.15.

(a) Complete the tree diagram

- Late*
0.4
il Rain
/ = T~ On Time
Late *
& No Rain

On Time

()

(b) Work out the number of days the bus should be late over a period of 80 days.
P (R = -3 xo k=Dt

= ﬂ»l@xg
(RO = 0} xS 7O

F(lOK) :Q(?,z )
OO ULY
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A group of friends have been surveyed.

38% have been to Canada.

80% have been to France.

11% have been to neither Canada or France.

(@)  Find the percentage of the group that have been to Canada and France.

(‘)
0

G s

|

............... 20 %
4
One of the group, who has visited Canada is picked at random.
(b) Find the probability that they have been to France.
2028
(2
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complete a puzzle.

4

The histograms shows information about the time taken by 140 students to

4 ANREERSNEEEREANER

Frequency bt

density 3

oo}

20 40

(a) Complete this frequency table.

| Time, t seconds |

f;"requency

0<t<40

4

| 40<t<60
. 60<t<70

33

:‘ﬁ7o£¥§§6W“fj“mw 2
. 80<tg120 | 16

(b) Calculate an estimate of the median.

FO™ valvwe

bg#ﬁ x O

33
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80
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Time (seconds)

.5 4SS o
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